Aptitude Test Questions
Word Problem Examples

MULTIPLE CHOICE

1. Tom makes $4.25 per hour. How much does he make in 8 hours?

a. $24 c. $34
b. $44 d. $52
ANS: C

$4.25 x 8 hours = $34.00

2. Jack paid 10 cents for 1 candy bar. At this rate, how much will he pay for 2 dozen bars?

a. $2.10 d. $3.50
b. $3.40 e. None of these
c. $2.40
ANS: C
2 dozen = 24 $0.10 x 24 bars = $2.40
3. A1 1/2 foot long piece is cut off of a 4 1/2 foot long board. How long is the remaining piece of the
board?
a. 2feet c. 21/2feet
b. 3 feet d. None of these
ANS: B

4.5 feet - 1.5 feet = 3 feet



